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independent (unrelated) sample

- between-subject




N(Hy, 0) X N,
N(H,, 0) X, N,

Mo = Hi- Ko 0¢° = (1/ Ny +1/N,) 0?




4.t

Steps 1 and 2:

1.
02= T (X;-Xp?2 / (N;-1)
2= I (Xo- X2 | (Ny-1)
2.
o N, -1 A, N,-1 A
0= N, +N,-2 91°F N, +N,-2 92




Steps 1 and 2:

3.
A 1 1 A
0p? = ( + ) 02
b Ny N,
4.1
M1 = Ho
X, - X,
N
Op

Steps 4 and 5

10

4'.t

Nl'l
N2'1

V=N, +N,-2
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1%

62

80Kg 15kg?
62
83Kg 20kg?
12
» Step 1:
» Step 2:
0—2
=(62-1)/(62+62-2) *15+61/122 * 20
=175
» Step 3:

0p2=(1/62+1/62)*17.5 = 0.5645...




13

» Step 4:
(X, - X,) / 65 = (80 - 83) / 0.7513 = -3.99

« Step 5: 1% 122 t

- 122 120
t<-2.617, 2.617 <t
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(X, - X,) / 05 = (80 - 83) / 0.7513 = -3.99

t(122) = -3.99, p < 0.001

1. 122t

(0.001)




°p
. 0.05 (5%), 0.01, 0.001
° P

- p =0.000113

-p

16
(X_l'Yz)'(Ul'Uz) ( D - Hp )
& 3
N, +N,-2 t

*X;-X, Op

My - Mo Hp
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. 99%

40
62 81
38
50 78

18

02 = (40 - 1) / (40 + 38 -2) * 81 + 37/76 * 78
- 6045 / 76

6,2 = (1740 +1/38)* 6045 / 76
= 4.082...

- sqrt(4.082...) = 2.020
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76 t 99%
2.660

12

12 - 2.660 * 2.020, 12 + 2.660 * 2.020)
(6.63, 17.37)
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10
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30

22

11
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«10

1%

10

No.

24

Hp >0

Mp =0

10

No.

02=1.21

0.1,

12
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Op = glsqrt(n) =sgrt(1.21/10) = 0.348

t(9) = (D - up) / 0p = (0.1 - 0) / 0.348 = 0.287
. 1%
i 9 t 2.821

«0.287 <2.821

13



